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Objective: Simplify Products of Radical Expressions

Concept

Properties of Radical Expressions

1.a-vVb =aVvh
2.\Ja Vb =+/ab
3./a-VJa=vVaZl=a

4.c(a++Vb) =ac+cVb
5.vb(a + +/c) = avb + Vbc
6. byJa+ cyJa = (b + c)VJa
7. Va++Vb =+a++Vb
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Objective: Simplify Products of Radical Expressions

Ex) Simplify each product.

5(2 —V3) V2(6 +V10)
59 -5J3 JZ G+ Jao
o - 5/2 oJa t VEII
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Objective: Simplify Products of Radical Expressions

Ex) Simplify each product.

V6(-3 —V6) 4+/3(7 + V/6)
\J?"B N ‘@ <%
aJz
—3J0 4.3J=Z

Qg/\fg + 1QJR

DQ\FQ_ —\—Z%/J—’Bj

— - 3J0
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Objective: Simplify Products of Radical Expressions

Ex) Simplify each product.

(2 +V3)(-5 - V3) (-2 - 3vZ)(-8 —2)
25— JF) +/3(-5-J3) o5V 3z (-4 ~/f2>_
oaE s E I 1L tadE R T
A~a—" — __3 PR
ENERNE o+ b 2Jaradz
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Objective: Simplify Products of Radical Expressions

Ex) Simplify each product.

(2 +V15)(5 +V3)
9 5+J§> +E(S+\f§>
—
JaJS

4+~ 3J5

\)O/%?B +8J€+5@
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Objective: Simplify Products of Radical Expressions

Ex) Simplify each product.
W — 3)WE+4)
(7 +d) + 30x+9)
o=+ YSx v T3X TS

- JxX 1L
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Objective: Simplify Products of Radical Expressions

Ex) Simplify each product.

(Vx=2+3)°
(75«3 3)

e N  ( =D

(G 32 r3/x=2 T
(X”Z/v — —
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o rerz o3
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